Efficiency vs Dxy(PV)

> F

OB E=20-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
| Efficienc] —— DQM_V0001_R000000001__Global__mkFitNewBins1DC1000time__RECO

< 0.5

>

efficiency vs dx
S

©

1)1 L
2040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

S 1

[ L .

§ f :

Y 1— ------------ .-u -------- P LR

> I .

>t : : : : :

o r . . . . .

& 08p-eeees eredeeee SEREED PR

2o : : : : :

(5] o . . . . .
0.6 = rwreeee FEEREE R R R FERE
0.4 erefdp e Feeees
0.2f--e e beeeeffig e Feeees

I i i - i i

o <0 *

©

@

10020 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

;OAS_

[

N Q7 bee bt

Yo

o

>

>

9

c

i :

L2 :

© .
i

Ratio




	Contents
	Page 1


